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1. The sphere of mass m falls and strikes the triangular block with a vertical velocity V.,
If the block rests on a smooth surface and has a mass 3 m, determine its velocity just
after the collision, The coefficient of restitution is e.
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2. The truck travels in a circular path having a radius of 50 m at a speed of 4 m/s. For a
short distance s = 0, its speed is increased b}-"':' = (0.05s) m/s*, where s is in meters.
Determme its speed and the magnitude of its acceleration when it has moved s=
10 m,

= 0,055) mi*
V=d mfs s

3. The gear has the angular motion shown. Determine the angular velocity and angular
acceleration of the slotted link BC at this instant. The peg at A is fixed to the gear.
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4. The uniform beam has a weight W, If it is originally at rest while being supported at
A and B by cables, determine the tension in cable A if cable B suddenly fails.

Assume the beam is a slender rod.
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5. The dresser has a weight of 80 Ib and 15 pushed along the floor. If the coefficient of
static friction at A and B is pu.=0.3, and the coefficient of kinetic friction i1s pu,=0.2,
determine the smallest honzontal force P needed to cause motion. If this force is
increased slightly, determine the acceleration of the dresser. Also, what are the

normal reactions at A and B when it begins to move?




